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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 2471 6.1 1.5 8 76.6 100
2 2471 3.3 1.1 5 66.7 100
3 2471 5.5 1.3 7 78.7 100
4 2471 7.2 1.6 10 71.6 100
5 2469 9.1 3 15 61 99.9
6 2467 8.3 2.8 15 55.6 99.8
7 2465 10.8 4 20 54.1 99
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark AO1 AO3 


2. (c) Award up to a maximum of 3 marks for a detailed 
explanation of how Tia's self-concept may be affected by her 
appearance. 
 
Likely answers may include: 
 
Tia's self-concept may be negatively affected; she may think 
she is unattractive due to not wearing nice clothes or make-
up or having her hair styled.  This may lower her self-esteem. 
 
(Accept any other reasonable answer, including positive 
explanations.) 


3 1 2 


 












A2c: 3


2.



Sticky Note

2 (c) - 3 marks
A detailed response which is completely focused on self-concept.












A2c: 2


2.



Sticky Note

2 (c) - 2 marks
A reasonable response, with two points regarding self-concept.  Mark given for "she may feel unattractive" and "feeling ashamed".  Reference to people calling her names gained no credit as this is not self-concept.












A2c: 1



Sticky Note

2 (c) - 1 mark
A limited response.  A mark given for "she might think she's ugly".  Reference to people putting her down gained no credit as not self-concept.
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2.
(c)	 Since having her baby, Tia has lost interest in her appearance. She has stopped styling 


her hair and putting on make-up.	
Explain how Tia’s self-concept may be affected by her appearance. 	 [3]












B5ai: 1


B5aii: 1


B5b: 4
















B5ai: 1


B5aii: 1


B5b: 3
















B5ai: 1


B5aii: 1
















Question Answer Mark AO1 AO3 


5. (c) 0-2 marks: Answers that describe, with some attempt to 
explain, the impact on Samantha's development of 
positive/negative factors if Joe accepts the new job.  
Answers convey meaning, with some use of specialist 
vocabulary. 
 
3-4 marks:  Answers that give a clear explanation of the 
impact on Samantha's development of positive/negative 
factors if Joe accepts the new job.  Answers are well-
structured and clearly expressed.  Specialist terms used with 
ease and accuracy. 
 
Likely answers may include: 


   


  (i) Positive factors 
May build a closer relationship with her children as she is 
taking a more active role in their care.  May have more 
quality time with Joe and her family when they are together.  
More income may reduce her stress and provide her with 
opportunities and luxuries she could not have afforded 
before. 
 


4 2 2 


 












B5ai: 1


B5aii: 1


B5b: 4







B5ci: 2



Sticky Note

5 (c) - 2 marks
There is too much focus on Joe in this response, rather than on Samantha.












B5ai: 1


B5aii: 1


B5b: 3







B5ci: 4



Sticky Note

5 (c) (i) - 4 marks
This response shows a clear, sustained focus on Samantha, linked to the change in Joe's job.  The candidate has considered social, physical and intellectual development.












B5ai: 1


B5aii: 1







B5ci: 2



Sticky Note

5 (c) (i) - 2 marks
There are links to Samantha at the beginning of this response; however, at the end the focus on Samantha is lost and it becomes a general response.
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SECTION B (50 marks)


Answer all questions from this section.


5. Joe is 45 years old and married to Samantha. They have two young children. Joe has recently
been offered a new job with a better salary. This would mean his family could move out of their
city flat to a house near the countryside. The new job would mean Joe will be working long hours
and will be spending time away from his family.


(a)	 Using the information above:


(i)	 Identify one environmental factor.	 [1]


(ii)	 Identify one social factor.	 [1]


	 (b)	 Assess the possible effects on Joe’s health and well-being if he accepts the new job. 	[5]
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	 (c)	 Explain the impact on Samantha’s development, considering both positive and negative 
factors, if Joe accepts the new job.


(i)	 Positive factors: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [4]


(ii)	 Negative factors: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [4]
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Question Answer Mark AO1 AO3 


7. (b) 0-2 marks:  Answers that describe how Imran and his 
family's physical/emotional/social development may be 
affected by being refugees, with some attempt at 
explanation.  Answers convey meaning, with some use of 
specialist vocabulary. 
 
3-4 marks:  Answers that explain, with clear evidence of 
understanding, how Imran and his family's physical/ 
emotional/social development may be affected by being 
refugees.  Answers are well-structured and clearly 
expressed.  Specialist terms used with ease and accuracy. 
 
Likely answers may include: 


   


   (i) Physical development 
 
Living on benefits/in poverty: 
• Cannot afford a balanced diet – increased risk of illness 


and disease, children may not thrive. 
• Cannot afford heating – increased colds and asthma. 
• Diet may be better than it was in Syria – improved health. 
• Better access to healthcare – improved health. 
 
Living in a run-down part of the city: 
• Increased crime – more likely to be a victim of crime such 


as assaults. 
• Less access to open spaces and unsafe environment – 


children have less physical activity (playing outside). 
 
Escaping war, moving to a new country with a different 
culture: 
• May not eat, have sleep problems and more health 


problems – linked to more stress/worry adapting to 
changes. 


• Improved physical health – because less stress due to 
not living in war zone. 


 
Children starting new school as the only refugees: 
• Not sleeping or eating, being victims of bullying – due to 


stress/worry adapting to changes/fitting in. 
• Increased access to physical activities than in Syria, e.g. 


sports and equipment. 
 
(Accept any other reasonable answer.) 


4 1 3 


 












B7bi: 3



Sticky Note

7 (b) (i) - 3 marks
There are clear links to physical development in this response and the individual(s) in the question.  This was a  good 3 marks.  Had the candidate given some further specific links to, for example, housing conditions on physical health, this would have secured 4 marks.












B7bi: 3



Sticky Note

7 (b) (i) - 3 marks
Several points link to the individual(s) in the question and physical development.  Reference to not being in poor conditions needed development for a further mark.












B7bi: 0



Sticky Note

7 (b) (i) - 0 marks
The reference to "stress" here is not explained, it could be physical or emotional.  
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7. Imran and his family are refugees from Syria. They have escaped the war in their home country.
They have lived in the UK for six months. They live on benefits in a run-down part of the city.
Imran’s two children attend the local school. They are the only children in the school who are
refugees.


	 	


	  	


	  	


	 (b)	 Explain how Imran and his family’s physical, emotional and social development may be                                                                                
affected by being refugees.


(i)	 Physical development: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [4]











